
�����  3 
 

��	�
��
����������� 
 

��������	�
��
���
�
���������������	�
��
������������������������
�����
 �� 
(Research and Development) ����
 ��345���6����78�� ��78�� ���9��7��:�8;�� �<�:������
=�� 
>5��3�>������ Google SketchUp  6D�9�
��
������3
���
E�����	��F:�8 3  ;<����
�H5����	����
:D����
��
��� ���9����6�:E�I�����345���6�� ���
����������5D��������������	�
��
���
���   5 �
�����  5
����  

1.  ��4M�:5��� 
2.  �
�78���7�:�8�3���������
� 
3.  ������
���9O����<� 
4.  6Q���:�8�3���������
� 
 

1. ������
��� 

��������	�
��
���
�
����� H5��D�9�5��4M�:5��� �����
������3
���
E�����	��F:�8 3 
:�8�D��
��������I�
�����:�8  2  �F������	�  2553  ���>��������������7� �
�9�
5�D������3�  
�D����  30  
�   
 
2. 
������������� !���������� 

1.  345����������������<�:�86�������� ��78�� ���9��7��:�8;�� �<�:������
=�� >5��3�
>������ Google SketchUp  6D�9�
��
������3
���
E�����	��F:�8 3 

2.  ���ST���9�M�������9�
����:�8�
�����������������M��9�M�� ��78�� ���9��7��:�8;�� 
�<�:������
=�� >5��3�>������ Google SketchUp  6D�9�
��
������3
���
E�����	� �F:�8 3 

3.  ����������;�6
�U:E�V:����������:�8�����5���345����������������<� ��78�� ���9�
�7��:�8;�� �<�:������
=�� >5��3�>������ Google SketchUp  6D�9�
��
������3
���
E�����	� �F:�8 
3 ������
� 3��5 4 �
���7�� �D���� 30 ���  

4.  ����������
��������������
������9�
������345����������������<� :�86�������� 
��78�� ���9��7��:�8;�� �<�:������
=�� >5��3�>������ Google SketchUp  6D�9�
��
������3
��
�
E�����	��F:�8 3 



 
���"�!��
������������� !���������� 
1.   �
������� 

 ;<����
�H5�5D��������6��������
 ��345���6��:�86�������� ����
�������������� ���
;<�:�8��6M�����8����������78���
��W  >5�������34� 3������45����4M�9���������6��������
 ��678�
��78��9����5���6�:E�I�� ��78����>�3�O������
 ��;�6
�U:E�V:���������� ���6�
�6�4��������
�����������6�����
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SketchUp  6D�9�
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���
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2. ���"�!��*���
"�� 
    2.1  6�������:56���
5;�6
�U:E�V:�����������9�
���
�4���7��9���3����;����

������<�:�8
�59�
�:�8�
��H��>5��������:56��������
� 4 �
���7��>5�6�������6�� 45 ��� 
    2.2  �D����:56��H��9�������O:�8����	� ��78�����6��
���Q<������9���6� 
    2.3  �D����:56��H��9�;<��3�8��3�Y5�����7��9� ���;<��3�8��3�Y5�������
5��� 

�������;� �������
���6�5
����������:56�� �
��
�Q4���6�
O�����
���4����H����

D�����D� 

    2.4  �D����6��:�8;M������������
���6�5
����������:56���
�;����������<�:�8

�59�
� ���
5�������:56���D���� 30 ��� ��78��3�9���5
�
�������M�� ���
M��D����
�D����������:56�� >5��D����:56��H�:5����
��
������:�8��
4=6��
���9�7����4M�
�
���M�� ��M��
����<��7��X������78�� 
=����6��O  6D�9�
��
������3
���
E�����	��F:�8 3  
�D���� 30 
� ��M�������4M�6<������4M��8D� �3����� 30 ��:� >5���M���4M�6<� 15 
� �����4M��8D� 
15 
� �����=����;����������������3�:�8�����
����
� 

    2.5  �D����:56��������������
���9O����<�:��6Q�����78�9���5
�
�������M��
Z�8���
M��[��8���<M��9�M��  0.20-0.80  ���
M��D�����D����������:56������������ 
����
M�
�
����M 0.2 ����H� (���� 6���� ����
�
=� 6����, 2538) 
     2.6  �D����6��:�8;M���=`O
4=I�� ��78��D�H��3��������:56���M����������     
9�
�������D���� 30 ��� �
5
����<�
��������� >5����6���M�����9�
�������������6��345
�5����
� ��M�����6�
����6�����6�
��
���7�� 

3. ���"�!��*��-�/
�����01�2"��� 

��E�5D��������6��������������345������� 
    3.1  ���	����6��  ������
�:�8���8���
�����
 ��345���6��  ������	�

���6��Q���M��W  :�8��������
��
 ��������78��3�Q�����8���
��
 ��345���6��   
    3.2  ���	���E����6��������������345���6��������6��:�8���8������ 
    3.3  5D��������6��������������������345���6�� 
    3.4  �D������������������6��������O:�8����	�  �����=�����6������ 

��
���4����H����:�8������O:�8����	��6����� 
    3.5  �D�����������������:�86���������6��;<��3�8��3�Y �D���� 5 :M��  ��78������=� 


���6�5
����������
D�Q�� �����D���9�
M�5
3��
���6�5
���� (IOC) :�8��
M��
����M 0.5 ����H�  
�����������������:�8��
����9���6� ������
���4����H� 



   3.6  �D��������������:�8H5�;M����������=����;<��3�8��3�Y ����6��������������
345���6��������������6M�������=
M� (Rating  Scale) 5 ��5
� >5��3���=`O��������=�  
5
���� 

 ��5
�
����9���6����:�8645 �9�
����     5 
���� 
 ��5
�
����9���6����  �9�
����     4 
���� 
 ��5
�
����9���6�������� �9�
����     3 
���� 
 ��5
�
����9���6�����  �9�
����     2 
���� 
 ��5
�
����9���6��������:�8645 �9�
����     1 
���� 

  ������
���9O����<� >5����9�
M��[��8� ���9�
M�
������8���������X��  
�D�9�5
M��[��8�H�� 5 ��5
� ������
���9����D�9�5��=`O��������=� 5
����                      

      
M��[��8���9�M��  4.50 e 5.00  9���Q��  ����5
�
����9���6����:�8645 
      
M��[��8���9�M��  3.50 e 4.49  9���Q��  ����5
�
����9���6���� 
      
M��[��8���9�M��  2.50 e 3.49  9���Q��  ����5
�
����9���6�������� 
      
M��[��8���9�M��  1.50 e 2.49  9���Q��  ����5
�
����9���6����� 
      
M��[��8���9�M��  1.00 e 1.49  9���Q��  ����5
�
����9���6�����:�8645 
   3.7  �
5����O����������345���6����78��D�H��3������
�78���7��������h�����<� 

 
3. �����
���/&3)!��'� 

4.1  ����6��
����9���6�����:�����;M�������
�7��M��  ���
���
�5�9h���� 
;<��3�8��3�Y  >5�9�
M�5
3��
���6�5
���� (IOC) 

4.2  9����6�:E�I������:�����;M�������
�7��M��  �����= Ò���6�:E�I��  E1/E2 
4.3  �������:���;�6
�U:E�V:�����������M�����9�
������  >5��3��:�����;M������ 

�
�7��M��  5������:56��
������
�6D�

Y���
�������M����9�M��
M��[��8�:�8H5�������
:56���M�����9�
������;M�������
�7��M��  >5��3�6Q���:56��:�  (t e test  ���  dependent)   

     4.4  �D�����������
�����������������9�
���������=`O:�8�D�9�5H��  ��� 
���
���9O����<�  >5��3�
M��[��8�  ( X )  ���
M�6M�����8���������X��  (S.D.) 
 
 
 
 



4. "5�(����� !���������� 

��������
�
�
�����;<����
��3�6Q�����������
���9O����<�5
���� 
1.1 6Q������
���9O9����6�:E�I�����345����������������<� �����=`O 75/75          

>5��3�6<��  (H3���  ��7��64���=,  2533) 
                                           

      E1       =         100×

∑

A

N

X

          

��78�        E1      =    ���6�:E�I��������������:�8�
5H�����:����� 
                                           �
������5�� 
     ∑X    = 
����������;<������������:D����ST�9
5 
                                           ��9�M������� 
     N          =    �D����;<������ 
     A          =    
������h�������ST�9
5��9�M������� 
         

    E2         =       100×

∑

B

N

Y

   

     
    ��78�     E2     = ���6�:E�I������:������
������5�� ����� 
    ����8�������U���������;<������ 
   ∑Y    =    
����:�8H5�������;<������������:56�� 
                                           9�
������ 
    N           = �D����;<������ 
    B           =   
������h�������:56��9�
������ 

  
 
 
 
 
 



5.2  6Q������
���9O������:56���3�6<��5
���� 9�
�������3����7��9� 9�7�
M�5��3��

���6�5
���� (IOC) (�4Y�3�5  I�=>Y��
��O��	O, 2527, 9��� 69) 

 
 IOC          =      

N

R∑            

              IOC          = 5
3��
���6�5
������9�M�����6���
�;���������:�8 

�59�
� 

 x        =     
M��[��8� 
 ∑ R          =     ;����
����
���
�5�9h����;<��3�8��3�Y��7��9���3� 
   :
��9�5 

   N               =  �D����;<��3�8��3�Y 
 

5.3  6Q���:�8�3���������
���9O����<� 
       6Q����7��X�� :�8�3������9�
4=I������
�78���7�                                                           

(���� 6���� ����
�
=� 6����, 2538)  

  x          =             
n

x∑       

    

                ��78�    x  =   
�����[��8� 
  ∑ x  =   ;�������
����:
��9�5 

   N          =   �D����
�:
��9�5 
 
 4.51 e 5.00  9���Q��  ��5
�
���
�5�9h���
4=I����5
�5���� 

3.51 e 4.50  9���Q��  ��5
�
���
�5�9h�����
4=I����5
�5� 
2.51 e 3.50  9���Q��  ��5
�
���
�5�9h���
4=I����5
�������� 
1.51 e 2.50  9���Q��  ��5
�
���
�5�9h���
4=I����5
����3� 
1.00 e 1.50  9���Q��  ��5
�
���
�5�9h��
�������
���4� 
 
 
 
 



5.4  ���9�
M����8���������X�� (Standard Deviation : SD) �3�6<��
7� 
 
 
 
 

   S.D  =          
������8���������X�� 

             2

∑ x   = ;�������
������M���
����D��
�6�� 

            ( )2∑ X  = ;�������
����:
��9�5���D��
�6�� 
 n =          �D����
����/����<�:
��9�5    

5.5  ����������:���;�6
�U:E�V:���������� �M������� ���9�
������  >5��3�
M�6Q��� 
t-test Dependent �3�6<��5
���� (�4Y3� ���6���5, 2545, 9��� 112) 

 
  t         =       

( )
( )1

22

−

−∑ ∑

∑

N

DDN

D              

            
               ��78�    t    =   
M�6Q���:�8���3��������:����
�
M����U� ��78�:���
����� 
                                   �
�6D�

Y 

                             D    =   
M�;��M����9�M��
<M
���� 
                             N    =   �D������4M��
���M��9�7��D����
<M
���� 
5.6  9�
M�
�������M�� (Difficulty) 9���Q�� 6
56M����9�M���D����;<�:�8������6��             

����
��Q<��M��D����;<�������6���
��:
��9�5�:�6
Y�
�	=O5��� P >5��3�6<��5
���� (����  6���� 
����
�
=�  6����, 2538, 9��� 210) 

 

            P   =    
N

R   

     ��78�  P   =     
�������M��������:56�� 
            R    =     �D����;<������:�8���
D�Q������
��Q<� 
            N    =     �D����;<������:
��9�5 

( )
( )1

.

22

−

−
=

∑ ∑
NN

XXN
DS




M�
����������
M��
����M 0.00 - 1.00 Q�� P �������� 1 �65��M����6���
���M��                 
Q�� P �������� 0 �65��M����6���
����� 6D�9�
���=`O:�8�3�����������������=� 
�������M��
������:56��H5��6��H��5
���� 


M�
�������M��    0.00-0.19      9���Q�� ������ 

M�
�������M��  0.20-0.39      9���Q�� 
M��������� 

M�
�������M��  0.40-0.59      9���Q�� ����M��������� 

M�
�������M��  0.60-0.80      9���Q�� 
M�������M�� 

M�
�������M��  0.81-1.00      9���Q�� �M����� 

 
7.  
M��D�����D���� (Discrimination) 9���Q�� 
���6����Q������:56�������

�D����;<���������������4M���M� ��4M��M�� >5��3�6<��5
���� (���� 6���� ����
�
=�                    
6����, 2538, 9��� 210) 
                                       r   =   Ru - Rl 

                                        N 
                                                    2 

 ��78�  r  =      �D�����D���� 
                         Ru =     �D�����
������:�8���Q<� 

Rl =     �D�����
������:�8���Q<�����4M��M�� 
N =     �D�����
����������4M��M�������4M���M� 

   

M� r ��
M��
����M -1.00 Q�� + 1.00 Q������ + �65��M���4M���M� ���Q<������M���4M�

�M�� ��MQ������  - �65��M���4M��M�����Q<������M���4M���M� ������
���9������
M� r ����=`O
5
���� 

 
M��D�����D���� 0.40 ����H� 9���Q�� ���D�����D����6<���� 
 
M��D�����D���� 0.30-0.39 9���Q��  ���D�����D����6<� 
 
M��D�����D���� 0.20-0.29 9���Q��  ���D�����D����������� 
 
M��D�����D���� 0.00-0.19 9���Q��  ���D�����D�����8D� 

                        ���6��:�8�3�H5� ��
M� p = .20 - .80 ��� r = .20 ����H� 



8.  ���9�
M�
����378��
8� (Reliability) ������:56���
5;�6
�U:E�V:���������� 6<�� 
k21 ���
<�5��O e ��3��O56
�  (���������  �4Y3�  ���6���5,  2545, 9��� 89) 

   rtt          =    
( )
( )12

2

−

−−

ks

xkks    

      ��78� rtt =    
����378��
8�������:56�� 
k =    �D����������:56�� 
x       =    
M��[��8� 

  2
s

 =    
����������������:56��:
��[�
� 
 
 
 
 
 
 
 
 
 
 
 
 


